Polygenic Inheritance Problem:  Skin Color

Remember-

Capital M = Melanin, darker skin color

Capital N = No Melanin, lighter skin color
Imagine the following couple; 
NN NN NN (female) 
x 
NN MN NN (male)

1. Give the phenotypes for these parents.

Female:




Male:

2. a.  What is the genotype of the darkest child they could have? __________________________________

b. What are the odds of producing such a child?  __________

Show your math:

3. a.  What is the genotype of the lightest child they could have?  _________________________________

b.  What are the odds of producing such a child?  __________

4. What are the odds of having a child that is heterozygous for all three genes?  _________
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